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PART [I: LISTENING SKILLS (20 marks)

EXERCISE 1 (5x1=5 marks)

You will hear a man talking about holidays.

Decide whether the following sentences are True or False.

Put a tick (v)) in the appropriate box.

1. The best thing in the world for the man is going on holiday.

2. Time goes fast when we are at work.

3. The man doesn’t enjoy one-day holidays.

4. Some workers do not have long holidays.

5. Staying at home while being on holiday is stressful for the

man.

Source: https://listenaminute.com/h/holidays.html
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EXERCISE 2 (5x1=5 marks)

You will hear a conversation between Betty and her friend Kevin. Betty is very
bored and her friend Kevin makes recommendations about what they can do.
For questions one to five, choose the best answer a, b or c.

1. Betty is so bored that she her two assignments.

a. completed
b. started
C. gave up

2. Betty reality programs.

a. likes
b. enjoys
c. dislikes

3. Betty doesn’t like games because she cannot

a. concentrate on them
b. land on hotels
C. owe money

4. Kevin will get paid next

a. month
b. week
c. weekend

5. Kevin and Betty finally decide to )

a. play monopoly
b. see a movie
c. play tennis

Source: https://www.esl-lounge.com/student/listening/2L7-bored-betty.php
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EXERCISE 3 (10x1=10 marks)

You will hear a broadcast about the Eiffel Tower. Listen and underline the
correct word in brackets.

EIFFEL TOWER FULL OF RUST AND IN NEED OF REPAIR

The Eiffel Tower is a world famous 1. (side / sight / sign). It gets millions of tourists
every year. It has been an important part of Paris for 2. (103 / 113 / 133) years.
However, it is getting old. Engineers found its metal is full of rust. They said it was “in
a 3. (pure / bad / poor) state”. They said its designer Gustave Eiffel “would have a
4. (heart / hard / head) attack” if he was alive today. The tower needs many repairs.
A report said it had 698 5. (faults / folds / forms). These could put its long-term
future in doubt.

The Eiffel Tower opened to the public in 1889. It was built for the 1889 World’s fair in
Paris. It 6. (encloses / contains / has) 10,100 tons of iron and 2.5 million rivets.
The original 7. (plot / play / plan) was for it to be taken down after 20 years. The
French government changed its mind and kept it. The tower is now being 8.
(repainted / repaired / rebuilt). Engineers say paint will not make the 9. (rust /
mold / rot) go away. They say all the paint needs to be 10. (improved / removed /
moved) first. However, this would take too long.

Source: https://breakingnewsenglish.com/2207/220707 -eiffel-tower-a.html
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